udley
. GTEmwT-

2017

Qurrgjg, b Qurg a{pﬂmm
’ (Degree Standard)

i@idasiulHerer Coaw : 3 mmﬁ] : : . ‘ [angg wé]u@um‘rasm 300

demésErss u,ﬂmaﬂs@;@m Epssan: sfleimrsamar SeuaON&L uq.ssmm :

@

o

10.
11.
12.
13.

- wadw au&sqmusm '
ALY a&]mrrg; Glgrr@uq Ggrrsq Q;srn_m@mgg)@ 10 AOLiis@rsE enagns a‘ﬂmmuug,rrqrrs;@&@
GUPERISLILI(LD.
Qb5 elemy Qar@iy 200 damssmens Qararderers). elewalss Qgrn..ru@@pm @suaﬁlmrrg@]g,rr@uﬁ]m TR
elemaaenibd euflanduing @h_ib Gug)gummesrmrr STEHILIGHSWLD @am_u_‘ﬂeu T CeuDMISHTETHET 2_GTETIEUNT CTELIGHSILD
Funiggs Qandrareyb. gCs@ID Gapur® Gl sipamen LSE PO his@sger aepsarsrafitiureriiLp
Agfeflgg, sflwns o drar Cau@prap eﬁlam;s Garglemear QubpE Gasrrarar CauanPd. Coiey Apm_mfw 19em,,
pepudlL rd eflams Asraliy wrpdls SriuL ML g, '
aher elamésEnaGh el wallEsab. crd@r elamEsEnLD Fowrer wﬁu@um&m Qanam_amay.
2 RIsEHenL I L6 cTaRTananT @pgu ussgdlan auagl Cod apaauia c,’qngasar amwg,gmm @L@Qw ;_Emm;en
a8 Geuaim(®o. Geupy erangub eflamms QAznELGe eT(pss sat_Ngl.
eflenL_senem GDlS51 STUL eTam, ellMLSSTeT e 2 BISEHES, oS SasTariiiu rremyrreu STULIHLD.
2 RisEHeLW ufley erarr, Corayssrer aram whppd edlems@angiiy aflas ear (S1. No.) wsdlweaupapuyibd
aﬁlml_ggmﬂm @rer_mbd ussgsle gmm&@&a;rrs Mo BGieTaT @Lma;crﬂco fo sdez smow Hp
@wymLw ubgipeeat Cuamreiand Ghlsgs sl Cauar®w. Cupsan.. slurkismer ellemLsgralle Srser
GDE56 sm_Lg geublenred) Careumaneanmnu oyflelsmauddr R Getaraursy BLcugées CoHOsTaremiL@D. -

- geuGanam allamayd (A), (B), (C) wpmybd (D) eren preng, eflensenens QanamBemens). Siise siemeusaties G g sflwimer

aflenLenwig Gairey Qeiig) eflenL_ggnafics @lggis asm L CouamBib. qemmid@ GuopL 1L sflumar aflent_saT g Cadtedléxs,
Bmiugnas smbame Srsdr Wles sfiuneng ey cengs smgdibiaCem obs afler s aflegsmelicd GHGHE

slL. Geuam(Hid. eniugpumdgud em Caareliag @Cr g eloLmwugsiea CoibosHds CodmBid. 2 fisEwaL Ul

Quomgs AU BhiseT eflan_sgrafics @iigs sm_ Gib sfwuren allensaflen craimarfléamaamuls QUNIGSS.
afenszmefier gaiQaunm Caarall aranafingin ardifld @), ®), © LdgnD) crer preng efen,. ai t hisaT 2_drarar.
o Caarailsg alaLweliss frsdar sfQuear smgib oL mw gGr em efen aulL 8o wl Gb fab b

Emeow Hp ewueLw ubg ween Cuamdend @Héss st Cauan®b. gaQeunm Caamelé@i b

eflen_emwis Coipbs(as el spraficr ghlés CouamBid. em Caateilésg gane CupulL. dieLualissmd Sibs
eflenL_ goupnensnss sHEILGLD. 2 swyertons Sruse (B) cramnieng sfiwrer efleni wnss sSleame i GeraimLony

@,gﬁ]ﬁgj&-ssm_(‘éman@m
@000

Bruser oflamns QsrEulen apsl LssseswD BiaCur oo HifssCar sy, Caiay Crrsfé @bs
eﬁlmng an@ulﬁ]mm(:wn ammg eﬁla)l_,sgtrma'r@u.m (Sgrreqas L Dp efﬂl__@ Gmmﬂuﬁlw SICE Gswwmpng
Qe el Geuen

@PuyseT srdu uriLugHE ellasg AgrELIbe smLs LESSEDEG YaUEsFOS gu@u.lmﬁggja; Qsmereremd.
101 g 200 auanpuilener sllamrssaficr mdle euigafler AasrBas 1L Heter GHOysaTSTeN P eUTEnSTEGLD.
eflamng Qsn@ e e _eow GHuiLGaur, OIS H& srlL Cour sar sy,

Cupaar. sifleeysaie amsureaug Bflamd Csiaurmarun apyQa@sEn ‘EI_QJI.Q.EG)&S@&@ 2 graTns
CpR@W eran o FloypSsILGADS.
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[Turn over




~ EO3GTN7

SPACE FOR ROUGH‘WORK



101

102.

Match List I with List IT :
 List]
~ (a) Apple falls from tree 1
(b) Car comes tostop 2
(c) Beam of Ink drops in printer' 3.
- (d) Helium Balloon rises frori_l Land_ 4
@ ® © @
@A 1 2 3 4
B) 3 2 4 1
N 1 2 3
D)y 2 3 1 4
Ll iquwsed I-gg uitiqwed IT e e Qurmesis :
o uigwel |
(@) wrsdle Qops Slupd prider 1
B grems Bped Awhs 2
- © Qubdly siEfle ellggd e -
@ sonddmbs upsEDL afdlub ugrer 4
@ ®  © @
A 1 2 3 4
(B 3 2 4 1
©) 4 1 2 3
D) 2 3 1 4
What are deuterium and tritium?

(A)  two different elements
(B) two different compounds

(C) names of two ores

\/(D)/ isotopes of hydrogen

q%bn'_l.e_rﬂu.ub, g-flig.u1th. eredTLIGnEU créinn?
@A) QO Cay saflorise

- (B) @@ Geupy Gamomiser

©) Q@ salwrsd (FTg&s6T)

D)  oanl_ggeflen gGerGLriysar

List IT
. Frictional Force

Electric Force
B'uoyant Force
Gravitational Force

- uliguwen IT

2 priey eflens
Wew elens
LImLTesTL_ eﬁlms

yeRuiriy eflens

EO3GT/17
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103. Match the following

L.
II.
III.

v,

Carbon dioxide
Fuel
Rubber tires

Carbon disulphide

| (a)

®)

‘ (9)

(@

\ny«ym) 11— (d) - (iv)

(B)

©

I-(@-@) II-(d-

I-(@-® - () -

(i)

(iii)

D) I-{)-Gv) H-(d)-G)

Qemeumevanaupann QuUTHSsis

L
I

: III‘..
IV.
@)
®)

©

)

EO3GT/17

STTUT®LWNEens(H

erfl@umqper

@pliuf Lwirser

STiruenent. FooenLi(h

-~

I-@)—@G) II-@-
I-()~@Gi) IHI-(d)-
I-@)-@ ,I-@b)-

I—('b)—(ivl) -~

(a)

()

©

(d)

(iv)

@iy

(i)

(i)

Vulcanization of rubber - (1)  insecticide

Carbon black
Fire extinguisher

Reducing agent

IIT — (b) — (iii)
II1 — () — ()
I - (d) - (iv)

I - () — (i)

@rour Bmgeursse
STTUET SOt
ﬁ@mmﬂq& &6l
@@_&é sienf]
III - (b) — (iii)
I - (b) - @)
HI - (d) - @v) |

III - (c) — (in)

28

(ii) beverages
(i) ink pigment ‘
iv) garbon monoﬁde
IV-(a) — @
IV - (@) - (iv)
v Z (¢) ~ (i1) |

IV-(a)- @)

i) 5&@&3@5%‘1)66]
d) GYuTaREsT
(i)  enw Hpud

(iv) snituen Gureanésama(H

IV-(@)-0

IV = (a) - (iv)

IV - (o) — Gii)

IV —(a) - ()



104 Match the follow,ing':

(a)
(b)
©
(d)

SleeupeuaraHend Qurr@ggﬂas :

@
(®)
(©)
(@)

(A
(B)

©

(D)

Pyridoxine
Riboflavin
Thiamine

Niacin

N = W

euflrglen
mqéuntﬁlmeﬁim
swmblest
Bwrfler

@ O | ©

2
4
3
3

D R W e
#NJ—-‘OJ

- = D e

WD

= = DN

= W D=

@

Vitamin Bs -

Vitamin B:

_Vitamin Be

Vitamin Bz

@ -

ameul L 0e Bs

ameul_LL8eT B1

aaul_Lifer Be

emeul L 0w Be

105. Five kingdom classification was proposed by

\)M/ Wittaker

- mhgIs aumsunigemag Cempniedigseu

A
©)

Charles Darwin

e Cusst

gireoe Limiediar

®B)
(5)

®
D)

29

Dickens

Carl Linnaeus

195566

it SlenGemueh
EO3GT/17
[Turn over



106. " Match List I (vaccine) with List II (disease) and chodse the correct answer :

(@
®)
(©
(d)

A)

LisFI
Pertusis
Variceﬂa
TAB
OPV ,
@ O
4 1

©
(D)

2 4

3 2

()

List II
Typhoid
Chicken pox
Polio

Whooping cough

uligwed - (5O US) uligied IT 2.1 dr (Cpmiser) Qummsd), sflwrer efleni_anw CsibQsHés :

@
(b)
- (©
()

@)
B)
©
()

EO3GT/17

uCiguwsed I
Quiig gt Hed
mrrlﬂ@&d)a)rr
TAB

OPV

@ ®
4 | 1
4 2
2 4
3 2

U iguwied IE
L UM SMUFFQL
Sleenibenio

GuralGuur

SEGEUTEN @B(HLOD

30



107.

- 108.

Selling e(juity shares of public sector enterprises refers to

() Bull market

(B) Exchange of shares

\Q/ Disim}estment :

(D) Open market operations

Qurgisgien Hneueisaiar LniGsmer safluTGSE dhuens GOLILG
(A)  srener BMSTY
B) - L:rh@&sehurﬂmrr;bmtb

C)  pseS(p samaLi

D) HnHs ABSTG. BL GG EDEHET

‘I'h calculating the country’s GNP at market prices which one of the following is not

included?

(A) subsidies

(B) wages and salaries before tax

indirect taxes

\/GD'{ depreclatlon allowance

sHns clencoae é!lq.uLJGDL_U.(ﬂ@J B _lq 6o errgg, Caélw a.gpugﬁa)u_l 5@7&;&@ qu.lum Qurpg.
Epeumauenaupiier erbg e Gsirgg1s QaneareriiuBeuglomen? '

| (A wreflwiisaT

B) aféEphmsw s wHHL eafuid

I(C) wepps euflser

D) Ggu'_lmrrc;rr Liig.

31 EO3GT/17
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109. National Small Industries Corporf;tion (NSIC) was established in the year

(A 1950
\}3( 1955 -
(© 1960
D) 1965

Caflu ApQsmAoser asgg&ﬁ) (NSIC) 2 maumssiiul L euhLid

(A) 1950
(B) 1955
(©) 1960
D) " 1965

110. The basic aim of economic planning in India is promoting
(A economic development

(B) increasing national income

\W/ economic growth

(D) increasing employment opportunities

BpHwrellér Qurmertzmy H_L OB seSen SDlg LU Crrésid |
(A) Qunpenmgmy stﬁ@mﬁ)mm

‘®B) Cshu QuBeUTENW agmﬂggd)

(©) Qurmermgmy euerirsfenus Q&rrdur@m@gd)

D) Caseamnitou sdshsss ’

EO3GT/17 ’ 32



111.  Which of the following are the sources to know about “Kalabhras”?

L

II.

IIL

A

B)

D)

Tamil Navalar Charithai

Yapperuhgalam | . o ' , - : .
Periya Pﬁranam

Velvik‘kuéi Plates | .

Iand Il only - o _ 7 .

I and III only

L IL III and IV

I, IlT and IV only

Epssam_cupblé erees “serndriaer” LHH B 2 Seyb APOEISET SEb?

I
CIL

I

A)

B)

©)

D)

T opgn I v Go

- L IIL wppd"IV ol @b

sUOD preuait slleng
umgh@u@rﬁas@lb‘ |
Quflwygrestid
Ga;e?raﬁlé@tq.u m'.?.tlub

I wpgod I wHo

L IL HI wppo IV

3. EO3GT/17
: . [Turn over



112. Match the following :

(@ Fort William was built in Calcutta 1. 1503
(b)) Dutch established factories in Pulicat 2. 1700
() French established factories in Pondicherry 3. 1610°
(d) Albuquerque visited India 4. 1674
@ ® © @

A 2 1 3 4
® 2 . 4 3 1

\59)/ 2 3 4 1
(D)‘ 2 3 1 4
Spssam_aiperp AUTHSSIS :
() elodlwb CarlaL &S Tl S UL LF) ' 1. 1503

(b) LCaupsT iy, Lssssnyisd, Qsmnihermaent 2. 1700

ghubsHent
- (¢) unaﬁrqé@&rﬂuﬂd),ﬁ@;@&éza;m‘;ﬁaseh Qsmfmsreemwu 3. 1610
gHUGSHenit ‘
@) @oyQsis @pduress s Lfbss 4. 1674
() (b) (c) CY
A 2 1 3 4
®) 2 4 3 1
€ 2 3 4 1
D) 2 3 1 " 4
113. Which Russian traveller visited Bahmani Kingdom?
(A)  TIbn Batuta . - (B) Marco Polo
\59)/ ~Athanasius Nikitin V (D) Nicolo de Conti
umdefl GurrasE eflguib Q&g regw Liwesh wWTT? _
A) @u.én uSIsT . B) wmGasrGu G
(C)  ogerdluey gf;]ﬂlq,drrl B D) H&Caram-ig-smebgy.

EO3GT/17 | 84



114. Consider the following about “Gurudwara”.
1. . Sikh-Shrine is called a Gurudwara, meaniﬁg the dcorway to the house of God.
2. - The first Gurudwara was built by Guru Ram Smghx

3. Siklhr Gurudwaras must have a rehgmus flag called lehan Sahib in front of the

~ Gurudwara.

Choose the correct code

\SA‘( 1 and 3 only

(B) lonly
(© 2and3only

(D) 1,2and3only

.“'@@'geum;rrr” uHH EpsaTaupHean ssmeaﬂésaseqxb :

1. sLejeflen @osAdE Qsdwssmigws '-L.lll'Gb');lj arergud QureTURD ESSw u_é‘r‘tg GogeuLd

 EEEBeTIT BED o | |

2. qpse @@ggmﬁunmm G Qb A ast'.q.amff

3. fEHu GmHBZUTTESET FOW - Ga;rfqu.niw @aﬁprrgbr st  GESSIeUTITEG (PELDLD.

ameussGauaHID. S | :

- eflwner AL CaipEsREsaD :

@A) - 1 whpmb 3 vl Gib

‘B 1luoihod

(C) 2 wHmtb 3 WI_GID

@) 1 2 whmid 3w @b

8 | | T . EO3GTN7
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-115.  Who appointed Maharaja Ranjit Singh as the Go_vernorv of Lahore in 1799?
(A) Ahmed Shah Abdali

\;D/ Zaman Shah

(C) George Barlow
(D) Lord Minto.

LO@DTHTEYT r;r@ﬂ,s Sliiens aar %@pl}l‘l‘& 1799-& Hlwdggeur wimi?
A) am)u:g QYT DILISTES '
B)  smoenagn

©)  gmig uriGenr

D)  BenGm Gy

116. Which two leaders participated in the I1st Round Table Conference held at London and
explained the condition of the Harijans?

1.  Dr. B.R. Ambedkar

2 Mahatma Gandhi

3. Irattai Malai Sreenivasan : o

4. M.C. Raja ‘ :

(A) 1andZ2only _ - \ﬁ( 1 and 3 only

(C) 2and4only D) 1land 4 only

aps Pm seewisd eodreafid poLQubp wsd el Cuems wIET D b G]a;treﬁ'r@,‘
anfigenaaficn fanweanw a@sgimrssent.
. 1. Dr. Q.ayi. subGugasi
2. waorgor ST
3. @i weaw falleunser
. .

e1id. 4. Qe
A 1lwoppw2w v . B) 1wpgb 3w G

(0 2 wpgd 4 LGB o D) 1woppbdwiGd
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117.  Choose the wrong statement :

L Subhas Chandra Bo_se started the Forward Block party.
II. -  He crossed the Indian Border on foot and reached Kabul.
III. He did not meet Ribbentrop, the assistant of Hitler.

IV.  He was invited by Japanese Premies, Tojo.

(A)  All the statements are wrong
3 . AH the statements are correct
'_ “  (C) 1,1 and Il are correct IV is.wrong

, \}D( 1, IT and IV are correct III is wrong

&@s;n@Lb ansfugse geuprarens &Qs;

. suney e‘r_'ﬁéq Guime Limiaui. Gemmés eréngyid s Heow geutiami. |
I pesLduwesTons a@r’r BpHu oM@ SLHS ST acan.;'r,gm’r;
. e bl cofier #5cﬁunmua; QruGién_mlenu &;’5@&56&1&);&).

1IV. . gliurefier QupwpdHN CLICHT Damsd Sempliy 6;51@55«&.
@ swepysips sep

i(B) DiDeTEH! FaHID &l

(C) LI i.og)glb‘I‘H -&lﬂ- IV saupy

D) L II wpgyd IV & I1I w1 Gib seugy

B - N | ' EO3GTN7
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118. Assertion : In 1940 at Lahore session the Pakistan resolution was passed by the
' " Muslim league. ‘ C

Reason : Jinnah declared that the Muslims were not in minority and need a nation.
A) [Alis corre'ct [R} is wrong |
(B) [R]is correct [A] is wrong

\59)/ [A] and [R] are correct and [R] explains [A]
(D) [A] and [R] are correct but [R] does not explaln [A]

sapg ;1940 onsai BTG pevedd 65& Lndlavgren Srorarseng BapGeaundwug. -

sryewTd : glémenm  (pevedibEeT eﬂmjunmmmuﬁlsﬂn @ eareyb g,caﬂ;_r;rr@ Ggenau - crameyb
SiPeASHBHST.

A  smnm [A) 57 srped [R] seup |
' B) . sryewTd [R] &M sapmy [A] g,éJgi
©)  [Alspge [R] smyarapd &, [R] smyearid [A] saeom eSlensE g

D)  [A] smpgid (R] srpemapid s syared [R] sryearid [A] sapidide ederdsinde

119. Ifa certam sum of money amounts to Rs. 16, 940 in 6 years at 9%, with simple 1nterest then
" find the prmc1pal amount

() Rs. 11,500
Rs. 12,000 ,
\jZ(Rsllooo - o T
Rs. 11,900 | | o
oM GHIUOLL Qaroswuraig 9% safl aily SssHo 6 ear@aeio @m. 16,940-a8ps cefled,
DFDHVS SRS
.(A) qg. 11,500
® . 12,000 _ | S
€©) ¢ 11,000

® e 11,900

¢

'EO3GT/17 38 R |



120. Acan ﬁmsh a work in 18 days and B can do the same work in 15 days. B worked for 10 days

121,

122.

- (C) 4280 - - (D) 4210

‘and-left the job. In how many days, A alone’ can ﬁmsh the remaining work"
A 5 days ‘ "

A eréueuir @m Ceueaenw 18 prlsafigid B arénuauit 2G5 Caumaenw 15 pr saflgib Qeiieuf.
B @ip5 Caumeew 10 priser Qewigies B Mc\)@ﬁfpmr Greoﬂeu A LDI_®lD Lsg@cﬂén Ceuanevenws
asgemaen pr_safled Gé}mg,j @rOumi?

(A) 5 prser .
®B) 5% priser
(C) 6 prser

(D) 8 mpriaer

Sixty machmes can produce 4850 1dent1ca1 mobﬂes in hours. How many mobﬂes wouldv

- 25 machines produce in 6 hours?

(&) 3215 - - B 2425

]

é;gjugl @mpﬁum&m 5 wefl CrrsHéd 4850 QeaalliGuélaamer zmug@ Gsu.uﬁar;pm aaflé,
25 @mgﬁumsm 6 wenfl Gplygggleu assemen QaaedlLLl Guélsemar a@mrra;@m?

A 8215 ‘ (B) 2425

(C) 4250 . @ 4210

Standard deviation of first 7 natural numbers is
@ 7 | S ® T

© 4 e

wsd 7 @ué eremseiiar I Lefessth orgl?

@ 1 S ®
© ¢+ S D 2

_ 39 . ~ EO03GIN7T
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123. B is twice as old as A, but half the age of F. C is half the age of A but twice the age of

D . Which two persons form the pair of youngest and oldest?

@A Fand A
\;B( D and F
(© BandF
M) FandC

B-en m:ﬁg A -an auugiCLTe) @loL i@ panre F -an awdod urd. C -ar g A ar auwdleér Ling)

gend D-ar o Qmoriis. HHd Qmmmmﬁ Wi Pt Genen rgy? ‘
() FuopppAd ‘ |

®) D wpgd F

€ Boupgw F

D)  F opgd C

124. If 6% savings of the salary of a person is Rs. 3,000. Find his actual salafy

(A)  Rs. 40,000
\}Bf Rs. 50,000
(C)  Rs. 45,000
| (D) Rs. 43,000

e, gag aumorasHdnis 6 sseSpore . 3.006-8 G&Lﬁ]ﬁq Qeiidprir erefld SIaUTF .

QLTEID GTeIGUaTa?

A) . 40,000 ‘
@) o 50,000

©) m. 45,000

D @ 43,000

. EO3GT/17 | | 0 | : o



125. If o and ,8 are the roots of the equation 3x° —-6x+4 0 ﬁnd the value of % . £
) _ a
@A, 2
- B -1
\9}‘/ 1
- O 3
3x” —6x +4 =0 erenp swenun g6 Frayser a, f erafld, z+—661 wHUL sTaTs
_ S . a
@ 2
B -1
© 1

®) 3

126. Find the total volume of 14 cubes whose edges are 12 cm, 13 cm,.....,25 cm respectively
(A) 621019 cm?
B) 269101 cm?

© 962101 cm®

vw{ 1012@_9 om®

12 Qsib, 13 Q& i5,.... 25 Qg.8 .%ﬁu_lmg)mgp q,osm;p(%u.l usEs aarsqa;arrrses Glesrrem_ 14 saw

| sgintisafien Qungs sen SBITDUE STERTS. '
(A) 621019 &.Q&.tﬁ.
®B) 269101 5Qs.8.-
(©) 962101 5.Qs.8.

(D) 101269 5.Qe.15.

B | | s  EO3GTN7
: . ' . i S [Turn over



127. The radii of two cylinders are in the ratio 3 : 5 and their heights are in the ratio 2:3. Find |

the ratio of their curved surface areas

‘\?_(2:5” ‘(B)‘35

© 2:3 | v . (D)

Qm a@mma;srﬂébr a;i,f;ré:a;erﬂa'ﬂ Adgd 3 : 5 wpmid semeusefien 2 wikisafien eldg 2 : 3 areflép,

Sleupidlen eyenarey LTLiLIeT Satie aﬁlél§§$lénmé; SMHE N
@A) 2:5 o - (®B) 3:5

© 2:3 o o 11

128. The cost of carpeting a room of 18 m long with a carpet of 75 cm wide at Rs. 4.50 pernieter '
is Rs. 810. The breadth of the room is

A Tm: ' ' Mﬁm

(C) 8m ‘ | D) 85m

18 Bl ﬁeﬂ@pmm @ff S@DéE 75 cm awssu@mm eswusm.o Aflés, @B LBr_r_@as@; . 4.50 aig
5. 810 Qewaurdpgl. Sibs auanmufﬂm aqsa)u) eTean? '

A 7l | (B) 7.5 800
)y 88Lr } . D) 8.5

129. Ifthe &iagonals of two squares are in the ratio 2 : 5, find the ratio of their areas

L&) 2:5 - . ® V2:46
\59)/ 4:25 . ) 8:125

Bm sgirtisailan el L kisafier AHgb 2 : 5 erafe, wieupdlar Lprinaresatear allAsw eremean?
@ 2:5 S ®) 2:45
© 4:25 - @ 8:125
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- 130. A sum on compound interest becomes three times in 4 years. Haw many years will it take to
' become 27 times the ongmal 1f the interest is calculated at the same rate

(C) 24 years
(D) 36years

K Qg_‘,rrcma;u_lrrsargl aau..@euuq, Q,pa)u) BTG m@umasaﬂa) 3 L BsTEng. @(ﬁg, QL ly aﬁgm cym)m
3bS G]grrcmswnevrg] Grg,g,cmscr eu@um&@es@u 9@ 27 bLRSTEW

" (A) 8 a.u@L_mJa;err .
B 12 m@%@as&
(©) 24 umLmser

D) 36 cumLrser

131. Assertion [A] : 'Ghaggar is the river of irﬂand drainage.
| Reasening [R] : It gets lost i 1n the sandy area of RaJ asthan.

\M Both [A] and [R] are correct and [R] is the correct explanatldn of [A]
B) Both [A] and [R] are correct and [R] is not the correct explanatmn of [A]

- (C) - [Alis correct but [R] is false
(D) [A]is false but [R] is correct
spm [A] 0 ST ;_r,:ﬂ 2 eTHm(h a.uqﬁrrwmmumu Qa;rrmm_@ o

. smyer [R] @yj!ﬁﬁ @l;rracmg,rraﬂ mnﬂwg@m Loswrg)uuutﬂco Beor @ng} SHGdenng!.

(A) [A]Lng')gm.'o [R] @ ream(Hid & Guogubd [R] erénnig) [A]-uQar &rﬂu_lrrm eflergsLomE@Ld
B [Alopgd [R] @uswr@w & cgg{,mrrm [R] erésagy [A]-uQedr mﬂu.:rrarr eﬁ]erra;&u.na)w
©) [Alsfl c%surrren [R] seum
‘(D) [A],seugu 4,ETED [R] ol

B R R  EO3GTNT
' C " : [Turn over



132. Match the following :

Trenches ' Locations

(a) Mariana 1.  South Atlantic Ocean
(b) Romanche 2.  South Pacific Ocean
{¢) Sunda 3.  North Pacific Ocean

(d Atakama . ' 4.  East Indian Ocean

@ ® © @

A 3 1 2 4
\;B( 3 1 4 2
- (C) 4 2 1 3
D 2 1 3 4
&psam_aupenp QU mES!s -
&L gy flsem o SienwellL_riser
() mlﬁu_mmrr L QAzen oI’ ey s L0
(b) Qqnmﬁs‘mﬂ | 2. GOgerusis s
(c) 5§§n o . 3. QL uaﬁe‘s S
(d) SiL&Tom . | 4. fypsg @pHu ;I_G'O

(@ ®) © @

4 3 1. 2 4
®) 3 .1 4 2
(© 4 2 1 3
D 2 1 3 4
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133, Who decides the nature of the bill in the Lok Sabha?

(A)}v The ane Minister

\,(B')/ The Speaker

©) The Leader of Opposmon Party

D) T—he Home Minister

: m&&mmm@d), wGsngreilen genenioews Wye Qewueui wmi?
: (A)‘_ | 151&5;0 wiHAHM

3 aurrgsrru.lgfr |

(©) cr@r’rsi'_él,isgmwm.r'r

D) ocgEmp MOFFT

134. SAKSHAT was launched in Oct, 2006
\jA')/ To f#ci]itate life lohg learnihg‘of étudent, maCﬁers and those in.employmgnt
(B)  To facilitate the req_uirem_ém is tﬁe a‘gricult‘:ural sector
©) To fé‘ci]it‘ate m‘ar_ine requirement |

(D) Itisa satellite for belecommunication

Oct, 2006-gyt> gyehrigd Qéwﬁ)xJ@gglLyuLL_ SAKSHAT erénnuig) ergGerr(® ng.r’rqan.ué
A | Q;,eﬂtﬂmr'r, LOMGRTGUT LDDHEILD .5é)61§lu.|rre;'rfrass‘fﬂa'n QUTPIBITET SMHDEd Qgrrl_gj)a;gj)mmm Cuouhss
B) Ceuarmeir gmmuﬁle‘o Ggsmmsaﬁm‘a;aisn._y_f)};i'sgj ‘Gmlh‘u@g,s

©) a;l..é.)m—rrg) #.ufil:ﬂar Caanausamer &dsr;;ﬂ;isgl GuoibL QLY

D) . Qgrrmm’@gn;ﬁt&\;b@ Ggma:ﬂﬁ@fo Qewpenas Cumer -

s - &S ~_ EO3GTN7
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135. Which of the following articles of the Indian constitution deals with the abohtmn of

untouchablhty’?

'(A) Article 14
(B Artide 15

© Articdle 16

vcm/ Article 17

: Spssam_apdle aps Bbdu irdumenoliy eflf ‘Sawr_nmanio @UALL uH ) Gmidmg

| @
®
©
D)

A5 14

g 15
98 16

9817

136. The main recommendatmn of “The Tarkunde commlttee” on electoral reforms in 1975 is

about -

@)
B)

©

Election commission should be made as a 3 member body

Appointment of election cémmiséion members by PM in consultation with chief
justice of India

Appointmeht of election commission by president and prime minister

Appomtment of EC by pnme minister, leader of opposition party in Lok Sabha and
the chief justice of India

- 1975-g41b yeir® Gtz FHwmesto Qs iumer @r’r@du‘r@u_ Gelen sdw Lfbgeny

N
®)

©
)

- EO3GT/N17

-

Caiize penanmuib apenmy HUIT Qarraim_ Gpeurs wrHppliuL CeuaTRiId

Coigd gpemeRTL a.gui_‘ﬂa'rrrssn ﬁu.umaru) &;rgm SADWEETTSD  FaODEDID ﬁ@uﬁuﬁlm
2 Cansaanuér emquum;uﬁ]m BeLQup Geusm@u:

.Gaiige %GE)WTUJ e miQenit gﬂmmsmo GYWISS@OT  DHIID lﬁlrf,sl.o mpﬂlﬂu_ura)'

Cup@sreieriiuL. Geuari -

Ggr'rgé) g @anu e gudert flwwend Qygw DIDIDEE, 1EGET6 aHis 8 geaeul LHHILD
BpHu s fHuS HCumTd CupAstdremiuL. GG

% ‘ ‘[3'



137. Which of the followmg commlttee ‘recommended the settmg up ‘of Central Vigilance
Committee?.

A RaJmanhar Committee '
' '(B)- Sarkaria Committee

(©)  Kothari Committee
\P‘)’ Santhanam Commiftee '

&Qa;a;am_.eumg]mﬁr;bgas @Q.g WwSHHL EHE @@uq G(peney a,@surras& uflisgieny QEU.@@]?
(A) rIrrggLnsurmrrrr G

.('B) srasTRWLT GUp

© Gsrsrf g

@)  spgrend G

138. The word ‘integrity’ was added in the preamble of the constitution of India in the year
@) 1956 , (B 1961 |

\/cga’ 1976 | D) 1981
@p@u.l a{uﬁmmmwuﬂm @J&Q.]GG)UHEI]O) @@mmuurr@ eranm cumiigens GarsasuuT L ggg;,mr(a

A 1956 , - (@®B) 1961
(© 1976 ' - ®) 1981

»

139. From which country we have borrowed the co_ncurrent‘ list?

(A) Canada
) V@O’ Australia
(C) America

(D).  England

b BTty SmBEE Brd Qurgliuigwee QuHCpTDH?
A serm ' '
B) e HGrediwr
© <@ofssr
O @udaps

5 N ~ EO3GM7
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140. Which country has won the Asian Nations cup chess Tournament 2016 held at Abu Dhabi?
(A) Paklstan
B) Malaysia

\}g/ India

(D)  SriLanka - -

SiygmIude peL Qubp Sw BrRsEsssTer sgyhsc GQULIq. (2016)-& Qeueny pr@ erg?
(A)  undlavgrer . |

B) wCadwr
© @pdur
D) Qeonws

141. The Prime Minister of India has launched the Integrated power development scheme in
which city, to provide 24 x 7 power supply to every house?

(A)  Gandhi Nagar ' \ﬁf Varanasi
() Cochin | | '(D) New Delhi

geubeur(m eﬁl._tq.u)@l.o 24 x 7 Hensngd g gqgmé}mem;b;s tﬂm&:m&eﬂ ﬁl_l_gmg ungs lSlu,sl.nrr

Ths pETSSD HleusHermi?
A) srpd pai . (B) . aurgaéd
(C)  Qaréflen : | D) ugeLed -

142. Which State introduced “Akshaya e-learning” system?
(A) Maharastra (B)' Punjab

~(C)  Orissa o ‘ VCB( Kerala

‘Sibaywn” erenp @)-EHpd perpew Sifapsd Q&u’.rg mrr;ﬂmt’o‘crgj”?
(A)  waryraylyT , B) uvgpems
© gfwr ’ (D) Gaparr

EO3GT/17 8 | - B



143.

144.

' 145.-

Tianhe — 2 isa

- (A)  Satellite

Super Coxhputer
(C) Telescope |
D) Missile
Huirend) - 2 eremiig - )
(A) Qsmg')snasca;r_reif
(B) | 218 ssHaimiihg ésmﬂaﬂ
(€) dsreow Cprsdl
(D) T s ‘

The Satellit;e KOérnos 2510 was designed and launchéd by
#) USA - (B) France
Rﬁssia | D J ai)an

Cameviomen 2510 Gr;;%rm Q&u.u_bma;a’;@&'rr@a‘r augeuanosg) eliekranfich qéﬁ!m BT
®)  s@ofssr ®  Gyrened |
€y pegwr ' D) gt"_uunrrdn

The project by google in India to provide internet access to rural and remote areas is named
as project google ‘ ‘ » ’ ’
(A) Glass ‘ - (B) .Fiber

(C) Plex | ., L ' VGB( Loon

. &aEe Poaagste, @bdHurede  Hymoliyp Lnﬁ)gjLi; Azrevwe; LEHsENSEG Qoa@nuger

Craauudenan uipriis Sienwssliul Heater Qeuidd L sdler QUi QeudS L sn@e |
@)  femevp B) - Sewuui
© Setéad | D) gen

9 | ' EO3GT/17
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146. By which year the Digital India Programme is going to be implemented by the Department
of Electronics and Information Technology to transform our country?

(A) 2023
(B) 2020
\@/ 2018
@) 2017

BLOg! BTl wrpBluemwéEn Wetaaneiued whmb sead Ggmflan g;u_uaﬂu.xa)gjmg) 856®ﬂ65ﬂ.
8 pé]u_lrraﬂa) ThS %amq.,r_r)@m GswduBssuL ama‘rgj?

(A) 2023
® 2020
(C) 2018
®) 2017

147. The Sugamya Bharat Abhiyan does not aim
@A) to build accessible government buildings for persons‘with disabilities

B) to enhance accessibility and usablhty of public transport information and
commurucatlon

(C) toincrease the accessibility of physical environment in the cbuntry

\Q{ to impose fine on buildings inaccessible to persons with disabilities
4

FEDWIT UMTS S Swiren erenugen Ggsrré;es‘mm DIDOWITSF), 6TE?
A mrr;f)gug Snameflsdr oigmessss s rar ST L L Rigemer sL_(HgeD

(B) Qung CuéEeTsE. 560 WHTLD Glgsrn_rrq eg,élu_lm,m;ﬂm a@l@@mm wHMILD Vwerr
genenoentit GobLIHSSH IS0

©) prlgen @u.lgplﬁlu.r &mgj&&psﬁ]m a@j@@mmmu F(HSVTEGS0

D) mlrgggj,s Qmmmﬂ&aﬂm G GSRIFG REIUTS HLig L RIGEHEHSE SILITTHD e&@gsgscu
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| 148. " The world's lightest material called 'Silica aerogel' or 'Blue air' is manufactured at
\‘K Vikram Sérabhai Space Central (VSSC) T}‘xirlllvanantha.puram |
(B) ISRO, ]éangalore | | |
(C) NRSC, Hyderabad

(D) SAC, Ahmedabad

2 e s @e\)@mrrm @urr@err’ ‘Bflsar gCrmbige’ cweva)g,; ‘cargm HTHM TRG amug@
Q&wmuu@él,rygj? ’

(A) aélésmb sngmumi eflerQeuefl enowitb (aﬁ.erdu.adu.é])_@@mm;bgqmb
(B) - &.6TE. T @, QUIBISETHD
(C) aren.gyi.eran.8l, eITLITS

D)  erev.ar.8, HSLBTUTS

149. Which state has "Cyber Park"?

(A) Andhra Pradesh

\}B!/ Kerala

(C) Rajasthan

D) » Madhya Pradesh

eI LTS GTHS wrhlogdd 2 drarg?
@ 28y A0
| B)  Cayamr

©) .yngcéogm

(D) wsHw 197CgeDd

B | 51 - - EO3GT/N7
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150. Absolute zero of temperature means
(A 0°C , B) O0°F

\% ~273°C | (D) —273°F -

et &8 @euliuh ereiuigy »
Q)  0° Qeeny ACHH (B) 0° Sumperafi.
(C) -273° Qeang HCrRH (D) —278° Suunpeneri

151. When light enters from one medlum to another then which characterlstm is not changed‘7
(A)  colour of light
(B)  velocity of light
(C)  wavelength of light

\,GB)/ frequency of light waves

2m; goflspepuray amr_a;g,‘é,‘lsv JOGIES mm@g‘_orr@ aen_ag,'é]ma;@ b Quripg
S s cuhmET 6Thg Lk u)rr,mrrggj

Q) - geafispapuien Hipi

‘B) - gaflsHenpuler HlaveCousid
© galspepuler semeferd
D) geaflapapuien oiHiQeueir

152. Which law is called as the law of periods?
(A) Kepler’s First Law
(B)  Kepler’s Second Law : . : -
Kepler's Third Law |

(D) Newton’s Law of 'Grav_itatioh’

sronsafer efd erar siampssliL@L eIH
A)  Gsuafler gpganb el
AB)  QGsiefer @ram.mb cid

©)  Qastefér apenpmd ofld)

D) Bl Lefarmitiy 98
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153. Find out the incorrect statement(s) :

I
IL

111.
V.’
®
©
(D)

geupren QFmH@mTLT(Emar) STens :

I
I

I11.

(A)
B)
©)
)

All lanthanides are non-radioactive

. .. 2 .
~ Some actinides form MO,", MO,™ oxocations

The compounds of lanthanides are more basic than that of actinide compounds
5f elements sho§v Vafiable oxidation states like +2, +3, ¥4, +5, +B and +7

I and III |

ITand IV

I11 only

IV only

GrOaIT Ga){rjr@mm@asgyb sANEES serenLOWDH D6

Ao epsg@apsda MO,", MO,™ aiens opéGsT Gpir Swaflamer 2 pamdeape

aigaman(p Cemprisemens sm_wqaib Copgmean(h Cemoriser a@&-&nﬁg.gérmwu_i@L_qu

5f auflenes safiomser LUl L sEaligCandn Hlawgerrer +2, +3, +4, +5, +6. wHQWL +7

2 _GHL_LLIGOT

I womd 11T
11 wigo IV
I e Qb
IVl @b

154. If the solubility of magnesium hydroxide is V2 , the value of solubility product is

(A)
(©)

'8 : - ' (B) 442
8v2 . ' D) w2
Qusatflwb el Fréameis e assw@,rns%r J2 DT G @FSHner QumaEssSHen m@&q wrg)?
8 ®) 42
8V . A @O 92
53 ~ EO3GTN7
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155. Moss cotton is

@A)
B)

©)

¥

Azolla
Funaria
Nitella

Sphagnum

LDV LIEH&: GretmLIg)

A
®)
©

)

156. H.L.V.

A)

- (B)

v

@®)

eré.gp.68. eneuredler STRTLILHWL WYL Quimgmer

(A)
(B)
- (©
®)

EO3GT/17

S Csrem

SuGenfiwm
anpL G e

GVLIT&ENLD

has

DNA

as genetic material.

Single stranded DNA

Double stranded RNA

Single stranded RNA

1o GTEN. 6]
efleow q.crareg
FrilenLp <2y, 6Tebt. 6

gtﬂmgg <D IT.6TEm.6F
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157. | The sequence' <;f one systole followed by one diastole of the heart chambers is termed as
- (A) . Summation
’ \/(B'/ Cardiac cycle
tC) Refraétory period

‘(D) Cardiac output

Qsw  Ampseien vai@rs'u@m. (HevCLrd) wpmd  eSfleuanL g (@ wenCLred)  @eseummy
SienssiLBHiEHng | | |
(A) ) Qwrr‘é_)gés NG
- (Bi alsrrr'nqu_lrré; FpHE
(O gy Puenrs a;rré) eé;msq

D) Qswsddmpe Qauafiu@b GBS Heray

158. Which of the following is considered as ‘hot épot biodiversity’ in India?

Aravalli Hﬂls

\/(B’J/ Western Ghats

(C) Indo- Gangetlc Plain

™) Eastern. Ghats

| Qeeu(peuaTaIHNET cTeneu “@buwireSlen sz.u.‘ﬂ:ﬁ;u Wevals LdeumsamL” QL IDTED?
@ aeidoss
B) Cuip AsTLiTEs wame
L © @@Gm-sna&régl;w s0Qese
D) Hypie Asmidé waw

B - 55 | 'EO3GT/17
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159. The tobacco industry is one of the oldest industries of India; belongs to
Agro based and labour intensive
(B)  Agro based and capital intensive
(C)  Technology based and capital intensive
(D)  (B) and (C) are correct

| @bdurmeile ug;.eamu_masr Gzmfldsais gamns smsLL@D Ymasu@ame Qg,rrgﬁ]mrrmgj
(A efleusmuib whHmbd 2 MPLIL STTHSS)
B) . efleugmuibd wpmyLd CPOSEID STTHSE)
©) QGsmPomiub whmb QPOSERID FTIHSS!
- (D) B wdmwn(C) sfwmenenay

160. Match the followihg with their established year and choose the correct option :

(a) Chittarangan locomotive works 1 1986
(b) - Rail coach factory 2. . 1984
(c) Integral coach factory 3. ) 1947

4 1952

(d) Rail wheel factory

(@ (b) © (d

@ 2 3 1 4
VBT 3 1 4 2
€ 3 4 1 2
D) 2 1 4 3
Epaumd Apeuamser o g ‘ﬁgwuﬁi.g @TRLen urmpss sflwrer edenews CaibAsE :
(a) Assreyeer uufﬂd)Guf_Lq. AGsmfpsrerer 1 1986
()  yuller Quig AzmfhsTene 2 1984
© egordeanssQuly Ggnlpsres 3. 1947
(d) rde sésy AsmApstenad -4 1952

(@ ®) - (© G

Y
- (B)
© .

@)

N W W .,

3 1
1 4
4 1
1 4

T W N N A
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161. C+I+G+ X —M) - formula is u_s.éd to calculate '
(A) GDP - Gross Domestic Produét
(B) = NNP — Net National Product

PI Personal Income

\}D{ GNP - Gross National Product - .

C+I+G+ (X M) - arenp @5@0':5@&9@5@ Bawen sandbflLamd
(A) GDP - Qurgs o ampm @ e.dusd

(B) NNP - flay Csflu 2 pusd

© Pi - gafipUT eu(peuT

(D) GNP - Qurss Csilu 2 pLsd

162. The approach followed by PURA model is
| \/)0/ Neo Gandhian approach R |
o @) | Neo Nehruvian approach -
(©) Gandhi — Néhru Comvpromi'se' apprbach
D) Socialistic'apprdach ‘
- PURA mn@tﬂuﬂé) ﬁ]éruﬁ)m»ﬂu@b_@@@@mm
@ L sTid SEEGOD
B yPuCpo SDIGWND
©) anpd Cpm #mrw SSDESHOD
(D)‘ &mﬁr'rm_ &@G@wm |

B - 57 - ' BO3GTNT
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163. Consider the following pairs regarding Chalukas of Kalyani :

I Kasivisvesvara Temple — Lakkundi
IL Mahadeva Temple — Nolambavadi
III. Sarasvati Temple —  Gadag

Which of the pair gi'ven above is/are correct?

(A)  Ionly

(B) IIonly

\y/ I and III only

(D) 1II and III only

- GeneumLd @enerTaameT S(HSHM QEmens (asd)u_lrrcbﬂ FTEHEEUTEAT) :
I. srflfesCeuciyeugr Camlled -  @a@emg
II.  warGgeur Gas‘rrufﬁc‘;i)' ~  @pmembueimyg.
II. &Usiuva.:‘@ Ganuﬁl@ | - sLé

CGopEALOL L Gaarsde ag) (o) e sA?

A) Iwl@Eb
B) HMwlpw
(©) Tuwpmwlll LDL'.(D.L.D

(D) - II wpgw III wl @b

EO3GT/17 | o 58



164.

‘Choose the correct answer from the codes given below

Which dynasty/dynastles mtroduced the constructlon of Gopuras in South Indlan Temples‘?

()
(b)
(©
(@

A)

®)

The Pallavs

The Cholas \

The Pandyas

rIfhe Vijayanagar rulers
(‘a) onlsr

(b)farid (c) only

(a) and (c) only

\,aa( (@) and (@ only

Qar@astiul_@érer gHGsadmha sflurear sloLamwus Caibes0 -

abg aubsreuafl/aubareusfllient GgenaiibHiu Careloaaficr Camyrisamer é«@‘@a;uu@gﬁmrrr’mdr?

(é)'
®)
o
@

@)

B)

. (©

)

LIGGUITEET

_ Gampiaer

LITGhTig W r'resé"r‘

el ;j;asrf DITETGET )

(a) LG

(b) wpgid (€) LD

(a) Logj)gtb (c) LLED

() wpmib (d) LD

59
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165. Match List I with List II who helped to setup the steel plants :

List I ‘ . List IT
(a) Rourkela | 1. British
(17) Bhﬂai | : : 2 German
- © Durgapur . 3. Ruséia '
@ ® ©
\y/ 2 3 1
(B) 3 '2 1
© 1 2 3

®) 3 1 2

L 1g L) I-m 2_arareupenm UL iguwied II Q&n@&&uun_(ymm @@mu 6To o(d an@gp&nmwmu q;pu@g;g

Lgsﬂhu ;_r;rn._@Lan Gurr@gg:&
uligwe I ‘ uigwed I1
(a) erGaer 1. ls]IﬂLLdT
(b)  1Qeomi ) | 2. Qggirioe
© gu’rarrg,r‘r : 3. @IIJ'Q'QI.L!IT
@ ® ©
A 2 3 . 1 ‘

® 3 2 1
© 1 2 3

® 3 1 2
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166. Consider the following statement and choose the correct answer from the codes given below :
[A] Assertion : Jawaharlal Nehru was the Chief Architect of India's fbréign policy. .
[R] Reason : After Independence India wanted to maintain ’f-riendly relafionship with
| | America. Vijayalakshmi Pandit was appointed as American Ambassador in
1949. | | |
\ﬁﬁ’/ Both [A] and {R] are correct [R] is the correct:ekplandtion of F[A]
®) Both [A] and [R] are incorrect .
(C) ’ [A] alone is corréct [R] is incofrect

@D Both [A] and [R] are correct and [R] is hot the correct explanation of [A]

[}

£Cp Qar@ssliu(Herer arsfunsaian SiglumLuld QsrRssuLL Herer @;f;]uﬂ@és@ﬂaﬂ@ybg
sflwren eflenLemwi Ggl’rm Qewss : » |
Al &py : geapriieTd (3;5@ BrHu Qauspr () Qareransuien geamw AHA.
R] smyenmid :  @pHuT sgpHrd e Geren SiQwiss B L6 pLLpene mmﬁgg Qsmerer
fenprggl. 1949 b e gl Lamg a{é.lr'ra;a?'m aiGmlﬂekas: gngr;rras'
Budlpsg.
(@) [A] wppid [R] @renid o, [R] [Al-afpsnen shiuner cfersssms AsTGEEDE
®  [A] wppis> [R] @ranGi> sflude -
© (A} w6 sf. [R] shude
O [A] mi,bgi[h [R] @ren@id sfl, gpenred [R],. [A]—eﬁlgbsrrd sflwurer cfarsssans sefssedme

B R ) 61 , - "EO3GT/17
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- 167. Which of the statein;ants given below is/are correct?
1. Congress forms thé interim Gove-rnment with Nehru as the vice-'president.
2. Muslim league decides to join the Interim Government on October 13t 1946,
3. - Constituent Assembly meets without Mﬁslim league members on 9tk December 1946.

4. Indian Inder;endence Bill received Royal Assent on 18t July, 1947.

(A) 1and3only

(B) 3only

\,027/ 1, 2 and 4 only

D) 1,2,3and4

Gy QarpéstiLc Berer cundSuiisei org)/ erancu sflwinenaney ?
1. Crmeneu gianenr Faneeurmad Ga;rrdn‘r@Aa;rrmeﬂueiu Be_&&me) SIFETRISD DHenDSSF!.
2.‘ 1946 #15CLmuif, 13-6 QenL b spsmiasHo oy apevelid o gfrmmﬂgg@.
8. 1946 GFOUIT 9-6 apevedid 65& e pindeniiaaflend) ar;;ﬁ.u_leb"ﬁr'remu.lmu Fal L tb Salg ILIG).
4 1947 g 9avar 18-6 QA sgHET @Gangn,fau'srﬂ& @U@ ngjﬁpg.
A  1woomw 3wl b
B) 3wl
© 1.2wpmb4 0 G
(b) | 1,2,3whmb 4
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168.  Find out the wrong statements |

®)

©

(D)

7

The newspaper “Kesari“ was published in English

“The Mahratta” was issued in Marathi

“ The book,“Oriorf” was written by Tilak

Tilak taught in the Fergusson collegé-of Deccan
1 and 2 only

2 and 3 only

3 only

4 only

saupran ursESukismens SRTLHls

1.

A

®)
©

D)

“Gaafl” uggrﬂé;ma;l < mle Qumfude Qéﬁaﬂuﬂh..ﬂui@g. ‘

“Lgrssm’ ‘ugﬁrﬂéma& wrrgH QumAuiied GmﬁﬂuﬂLDQLLgl ‘

-~

“gRlwer” erémp e arpduet Heosit

Hosi sssrengdierar Auismaner sogirfuidd udibpelgsrt

1 wpmid 2 wHw

2 oHpb 3 LG

3wl (Rb

41l (hd

63

- EO3GT/17

[Turn over



}69- Rao, Kaul, Bansal and Agarwal enter into a partnership, Rao, Kaul, Baﬁsal subscribe -:I;rd,,

%t‘h, % th of the ihvestment'respectively and Agarwal the rest. If the profit .Bf 4 9,84,000 is |
divided according to their inyestment, what is Agarwal’s share of profit?
A) 2 1,64,000 | |

\sp( ¥ 2,13,200
(©)  ¥3,28,000

(D)  %1,96,800

TTAl, &E, LIGNET® LOHEID PN ACurt sl rs efwrummd Qsiifenpent. Gbn{sg

. i . 1 1
(yagsﬁl_tq.su ey, ey, Lengmre HACwmT aperpGui 3 UG JUBG, o B B siaiveumed
DUTEEHD W dH Qauiflenpeni. mrrug@,srrmaa ¥ 9,84,000 q,argj @35051_(9.5@55 ,s@pgrrm(%urrw
uriE® QGUJLL!LH_II_LJTGJ DIGTEUTD DML OTLS QsTans caeuaa?

@ T 64, 000
(B) %213,200

(C©  3,28,000
©®  1,96,800

170. Ifa:b: :¢:d isa proportion then, whlch one of the followmg is true?
A a: b :d:c
® (a+b):b:: (c+d):e

\;9)/(0 b):b::(c-d):d

bacd

a:b e ‘d TG @ Slfg sogas s_@mn&@é}mg‘ eraficd ﬂ;&rm@mmmﬁ)ydr érg; Qmu;lu.}nmgj? .

- (A)  a:b::d:c | :
®3) | (a+b):b::(c+d):c
© (a-b):b::(c-d):d
D) b>: a:c:d
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171 The H.C.F. of two numbers is 8. Which one of the following can never be their LCM?

A 24 v B 48

©) 56 . :\)DfGO

Qrean® eremsafien 8.Quim.au. Qb@’@f 8. ﬁsﬂsu@eumeugpgm THS Gresr @mcua;aﬂasr B.Qum.w. s

@@%@wwr@?
@A 24 . | - (B) . 48

© 56 . | D) 60

172. H.CF.of 2,12 18 and 2% is
: 10 25 35 40

@ - : : B —

. ' 5

3 . 63
\/‘2(" 1400 . C O e

9 12 18 .

22,2 wip i_éd” (HL.C.F) 650 Qurgs smro
3 N ' 252
.3 B) =£
@ < | | o ® —
) ' 3 o o | . 63
© 100 A ‘ -’ ® - 700"

173. Find the \;a_lue,of (1 — 1/3) (1-1/4)(1- 1/5)...(1 -'1/160) |
1 , ' !

@ = ® -

100 ’ o o 25

\/c)/ga o ! v () ‘100

(1-1/3)(1-1/4) 1 ~-1/5)..0 ~1/100) ér flCienuiés aneim

® ® 5
| © 50 . - D) 100
B | - 65
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| 174 If the numerator of a fraction is increased by 15% and its denominator is dlmlmshed by 8%,

then the value of the new fractlon is -}65- Find the or1g1na1 fraction.

1
@7
w3
' 3
© 1
15

® 7

. 6@ lﬂm@rggﬂm Qzredwurerg 15% &Q&ﬂ&&uuu@ Sipe u@,é,lu_lrreurg 8% @@a)g)s;a;uu;@ QuU(IHLD

etrar iy g e, Qzm_és Genend eremen?

@ 3
® T
© =
® 2

175. What is the value of 3+ 4[4 —{13-4(7+2)+6}+9]?

(A) 231
B) 213
er 123

® 1832

3+4[4 {13 - 4(7 +2) + 6} + 9] én wHuiy u_mgj?

@) 231
(B) 213
© 123
D) 132
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176.

171.

178.

‘The ratio of incomes of A and B is 5 : 4 and the ratm of their expenditure is 3 : 2 If at the
end each month, each saves Rs. 1,600, then the monthly income of B is

~ Rs.3,200. - ~ (B) Rs. 4,000
(©) Rs.3,600 (D) Rs.4,400

A whmb Bulen eugpLomangBlen aﬁ]ﬁglﬂéﬁ 5 4. Qaiisefien Qeoasaiar Afsb 3 : 2. @G wIE
el Gaisd Gmamd sefigsalCu @m. 1,600 Caliggmiser erafler, Ben g GU(THLOMEITLD

GreueUeTat?
(A) @ 3,200 c B) . 4,000

(C) em. 3,600 ' } D) . 4,400

The speed of three cars are in the ratio 5 : 4 : 6. The ratio between the time taken by them
to travel the same distance is

(A) - 5:4:6 . | o (B) 6:;1:5
© 10:‘12:15‘ | upo’12:15::10

apen pr—— (Bmasrmasefﬂm EETNE QPGU)[DGUJ 5: 4 6. @5_55 ey ariadr @G FIfSms &L68 |
T(hSg6 QaneT@nld Gprisafler cl&sb

(A) 5:4:6 ' B 6:4:5
© 10:12:15 | (D) 12:15:10

Three solid cubes of sides 1 cm; 6 cm and 8 cm are r_nelted to form a new cube. and the total -

surface area of the cube s0 formed?

A) 384 cm® - ® 456cm?

’\)9/ 486 cm’ | D) 430 cm?

1 Qs.5, 6 Q.18 m;’pg}]LiS 8 Q.18 LisERsamaT 2 eI ApaTTy S&T SHITRE®ET 2 (e @ LS sar s5iD
QERUFTD; Sigen GLMEs Lp UrLLaey eTeme?

(A) - 384 cm® © (B) 456 cm’

© 486em® .~ (D) 430cm’

6 -  EOSGTN7
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179. The simple interest at x% for x years will be Rs. x on a principél of

(A4) Rs. x \59/ Rs. 100
. : : X

100

2

(C©) Rs. 100x B ') Rs.
. . X

THS DFVTMS X % safleun&@ x @@Lma@é@ . X erenp gefleulig eowis SHLd

L@ e 5 ® e
© @ 100x ) @.%9

180. Three numbers are in the ratio 2: 3 : 5. The first number the second number reduced by'5
" and the third number form an arithmetic sequence. Then the numbers are

@ 10,1525 V& 20, 230, 50

(C) 17,10, 14 ‘ (D) -10,-5,7

ey GI'GO"OTéB;fﬂdT elflgd 2 : 3 : 5 erens. psemd eTaRT, EyeRTL D 'Graisréwﬂeﬁl@‘r_’r,gj 5-& sfisg10
QUPLUED eTar WHIIL APETPTD eTT SpHlwie @ Sl B Osm_i auflesew gHu@sHerme,
SleuQeuainaeners srewr '

@ 10,1525 ®B) -20,-30, 50

© 17,1014 | (D) -10,-5,7

181. The difference between simple interest ‘and compound interest at 10% per annum each on
Rs. 1,200 for one year if reckoned half yearly is ‘

(A) Rs.2.50 . \Q‘)’ Rs. 3

€ Rs.4 - . | . (D) Rs. 450

5.1,200-g 10% ouly ofssde gaﬂmt_lq.és@w am_@@.u_m,&@m 6 mng@ﬁgp@ R @mgp
Ee&E LG aupEsaigw eNSHwnsib eTertan?

A 250 S ® 3
© @4 | | N ‘D) m. 4.50
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182. The Arabian sea branch of South West monsoon causés‘no rainfall to thiévregioh
(A) Malabar coast
B) Konkan coast

(C) Western ghats | ' | , o
\9)/ _COromandel coast - . o BN

Gg,ésr@wgb@ g@@ué&ﬂé@& eslvxﬁié;asg_cb élep-sn;@l‘lju@;é}é;@ @mggt:@urr;é]q»m Glem@ninu@d)snm
(A) Lo“svuvrr‘fr S,L;jr)a;@&g | | | |
‘(B) . @&n@édr FL_pHEmr -
©) Copes GglrL_r're'rflméma)

D) Géirgpmcém_a) SLOHS®T

v

. 183. Identify the oil field which is not located in the west coast of India
(A) Bassein

(B) Ankleshwar

| @;bﬁu.umﬁﬁr Cuons asn..fpé;mu;rﬂ uGHuSd é{wmﬁﬁqr@s erewrQenTiil QJlLta)a) Si@LiTeTb a;né&ores
(@A) “ GuQaiien

®)  srsCoda
" © ouauL

@  prorsmqur

B S e L © EOSGTNT
. v . : [Turn over



184. The shape of the mid-Atlantic Ridge is

o s

B L
o U
O T

HU STy é S waas Asm_Mer aigaulb

@A v
@ L
©) ‘U’
('D). ‘T

185. The populaf Stockholm Earth summit was held in

® 1992
© 2002
@) 2012

LapQubp ‘soLrsGanmb o &4 wrETEH’ B QUbHD ST

@) 1972
®) 1992
© 2002
D) 2012
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186. Match the following :

Initiatives for women empowerment ' Purpose
(a) Rashtriya Mahila Kosh 1. Women in villages and slum work in
, ' . 'Angan — Wadi centers |
(b) Swadhar : . 2. Upgrade skills of poor and asset — less
' ‘ ' women ,
(¢) Training and émployrﬁent programme 31 . Credit facilities to women
for women : | . -
(a) Indira Mahila Yojna 4. Address to the need of women in
o o difficult circumstances
@ ® © @
@ 2. 3 1 4
N 25 R 1
S0 12 4. 3
D) 4 1 3 2
G]Ghm@mdr'mgbm;p QuTSsIs :
- QuesseT SIS DESTET @g‘isr(y)@;béﬂé;érr ' Gh&Gararser
(@) ey fw wedleor Ganeiy ' 1. S| BISEHEUTG. @Lnu.;maserﬂei) umﬂqlﬂu_[@
, ' | Aymiomiset bHMIK GlqsullelBEGD
Questser
(b) &Geugmi® S -2 dmlep HYID CETEsi @_sbe)rrg, Quersaflen
Co - HDEODEHMET 2 UITHSICUS)
(¢) QuewaEpsbaTar LEHE LHMID e 3.  QueEEHESTEN SL6T UFHSET |
Geuemaaumii S ib - ) }
(d) @bﬁﬁnw@]@n@mwgmni » 4. $qmmn¢'8§§ﬁuu Blenaasafich .
: : Queiraafiar Caameumaer Li5H Galioug
@ © @
@A) 2 3 1 4
®) 3 4 2 1
© 1 2 4 3
(D) 4 1 3 2
B o - ~ EO3GTN7
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187. Which article of the Indian constitution define the fundamental duties of citizen?

\}A‘)/ Article 51 A

_ Article 44
(C) Article 41 A

(D) Article 52

@‘II;@UJ a{uﬂwwmmuﬂm ThS QSI@ SgULIDL SLS@MaTL ug)[_f)] samiflmg)?

(A) eﬁ]@ 51A
B) o 44

© oA841A
@) 98 5‘2.

188. The National Human Rights cbmmiséion is a

\}A')/ Statutory body °

(B)  Non constitutional body
(C)  Autonomous body

D) Volunt_ary institution

Gl maﬂg.arﬂmmsér DLENSRTUILD ¢p(Th
A) @mmu.:rrar sl ffeuwmen a}mmﬁ:q
@) &mé]u.la)a)'wDL; aqun}s'awmuq
©) | W 1 S ey

D) senanniteu jﬁlgmaﬁlb
14
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'189. Which among the following statements is NOT TRUE about CVC?

)
®

is an apex Indian governmental body
created in 1964

\W _is an investigating agency

)

it has the status of an autonomo_us body

. Qereu(mid aammgiasaﬂm u)g,g_f,luJ p_ﬂrgg@) asm&rrmﬂuq Sjmeamusemsl UhHu &mcmmuﬁ]eva)rrg, SaDHmi

ol ?
(A)
(B)
©)
D)

@g,j. e(m Codwl L aq&méus& W

B3 1964 b SyeRr() _;o_(njmlre'sasuul;l_gj

B8 @@ yeoar oSlamyenent GWLd

@8 @@ senanm_HEE @earmwrer Flene 2 L wig)

190. Which part of the Ind1an constitution deals with Panchayat Raj?

(A) PartVIII - B) PartX

\,(,CB/ Part IX ~ (D) Part X1
@.r_r;élm @meﬂwmmmuxﬁ]m GI"ID‘E_I} UGS UEHFTLSS TTE Bienlienull up a'agnaﬂmgj? .
A) ugd VIII : B) ussHX

\' © ugdIX : D LGS XI

191, Scientists of whlch country have recently discovered the new rare planet w1th trlpple star
system‘? '

A)

o

©
)

UK

USA
Canada

Germany

THS ;F,nt_snl_& Caibg oidledlwed cgugﬁ‘l@rwsm sBusSe @WQL ;51_&,5@1 amwumuuwl_u.l eqrﬂu_l

Gy
. ®
©
D)

s Srasmss a;m@ﬂq.g;gm@rrmrr?

Eudlonbg
<QwRES giHu Br(H

STL.T

Qggitoef

3 . EO03GTNT
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' 192.  When and where will the 227 commonwealth games be held?

(A) 2020, Aukland, New Zealand

\)D)/ 2022, Durban, South Africa

| (©) 2018, Perth, Australia. '

(D) 2022, New Delhi, India

\‘22-%&) HMoET Qeuds gﬁ]mcrrmm’_'@ﬁ Gurig &6 Gn;l(Surrg, eriiGa meQummc?r@Tg? '
, : ' -

(A4) 2020, 5Qwbs, By forbsg

B) 202 2. Ltien, Qgencay i fam

(©) 2018, Quits, pevHCraSum

D) 2022, LgBeod), @pSun

193. ‘Ankush Dahiya’ is associated with which sports?
(A) Tennis
(B) - Cricket

VGZ)/ Boxing

(D)  Archery

iiigen seneflun’ ehs eleaum L6 @SMLiTL| 2L wauir?
@A)  Quenafied |
(B) = Af&QsC
(C) GSEIE shTenL

D)  Aodsms
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194. According to Natlonal Telecom Pohcy 2012 (NTP — 2012) increase in rural tele dens1ty by
the year 2017 will be : '

A%
B). 100%

© 5%

D) 50%

Gaflw 58561!03@5"'!_[:&.] Qanerena 2012 Lig. 2017-1b amgH@eT SrmoLp GFTeGSTL Y L iTe]
arggaen sgelldlsh sfshssiL@D?

@)  70% )
(B) 100% |

© 75% |

D) 50%

195. Using the under sea optical fibre cable the project "Bay of Bengal Gateway" (BBG) connects
whmh two countries?

\/(A‘)’ Andaman and Nicobar Islands and Chennai
B) Indla and Srilanka
© - Mélaysia and Oman
(D) Malaysié and Middle Eastl'C.ounfri-es :

) sLefe), Ugad euur Gaddr apeow, ‘G el Quiiste G Car” aren ﬁl'_l_.gﬂsb aps @
- prpsd @eearsstiuBAng? k

A)  opswren HCsTUNT Seyser HHID G&sisrmar |
(B) @*;'bsﬁlu‘" wHHD Gerims k.
©) wCadlurwhybd RO 7

@) wCwAur wHpb WAL Hipés ';brr(f‘;bschr

B | | | B EO3GT/7
: - ‘ o ' S : [Turn over



196. - From which Assembly constltuency the Jammu and Kashmir chief mlmster ‘Mehbooba
- Mufty’ contested the by election in June 2016‘7 :

Anantag
(B) Baramullah
(C) Kargil

(D)  Bijbehara

@ Oar 2016+ perQuhHo s LD&T;D [N 6012 P glb@p—a;rré'stSfr m&gﬁm seeulr ‘GQuapLyLim
g’ GumrtiguilL &' e Qg,rr@{é,] Grg’?

A  siemanns

(B) urrrm,pé.)surr

©) srrdle

(Dj _ GgQuammym

197. Which Indian language became the “third most common” in the parliament of Canada?
(A) Tamil | ' ~ (B) Telugu
(C) Hindi : : : ) Punjabi

GETLIT [BiTL_lg 647 urrurr@mehmgsﬁeb eanpresg) Qygrar Qumnfwns 2 drer Qbdwu Qumg u.frrgj?
@  sop - B Gsgue |
© @pd ‘ . . D) ugpema

198. Which country will be hosting the 2018 world cup football tournament?
(A)  England : A (B) Germany

‘Russia (D) France

2018-1b yehmig.6 2 & Gamiiant aTUBg CUTL g aThs Bl iged penLQup 2 drang?
(A @udengg | (B) Qgioef
©) peagwnm E (D) @Urrshe:fu '
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199. Whois the authof of the Book The Turbulent Years?

\/‘M/ Pranab Mukherjee

(B) -Alok Kumar Verma
(C} 'Pr'amod Kapoor
(D) Kartar Lalvani -
) LityaT mLita” aran LigsssAen auggsmentt wmi?
(A)  Qyeis apsigd), |
(B) a@éurrg @it auiLom
(C)  QyGwonsg suyi

D) siggrm areeurenf

| - 200.  USAID and ADB collaboratlve effort for development of solar park will 1n1t1a11y focus on the

state of

M Rajasthan

Haryana

© lGujarat

D) Andhra Pradesh

UL{GTGIVETERl. LDHMILD qqtflﬂu Qevempg Qewempdl 2 (Heurssw @nﬂu.l L BT (Lp;q,sh@gwﬁa; THS
| orfesden 55 @opsiLGssLLLAGEDE? | |
@A) grgesnen

'(B) apfluranr -

(© ,@éwéf» |

D) pdr9rCssd

B (e - '~ EO3GT/17
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